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Directions (Q.1 - 4) : Study the following graph to answer the question
given below:

Jeiferfad IRl &1 Aauriyds sreaa &7, o i R e vt & 13w 2

Export over the years (in rupees crore)
1%5 ¢ qui # ﬁm% (@RS TUT H)

Export over the years in Rs. (crore) q50

Amount (in Rs crore)

1995 1996 1997 1998 1999 2000 2001
Years
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Export over the years in Rs. (crore)

COMPLETE govt. exams

1. Export in 1997 is approximately

g8

YSO

Amount (in Rs crore)

1995 ' 1996 ' 1997 ' 1998 ' 1999 ' 2000 ' 2001 |

Ys6
®

Years

” -
FJ( )

what percent of the export in
19987
1997 # fA4ia, 1998 & fAata &1 &y

fraa ufaera & 2
(a) 145 \,(fb’r135
(c) 150 (d) 300

paa—
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Amount (in Rs crore)

[

8888883858

Export over the years in Rs. (crore) 2. What is difference in exports in

600

YSo

1995 ' 1996 ' 1997 ' 1998 ' 1999 ' 2000 ' 2001 '
Years

1997 and 1998?
1997 YT 1998 & fAula # fHa= suv

BTN E ?
(a)Rs. 150 Cr.
(b) Rs. 1500 Cr.

(c) Rs. 15 Cr.
(d) Rs. 100 Cr.
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Export over the years in Rs. (crore) 3. What is the total export (in crore

5 1000 rupees) in the given years?
: 800 ﬁgwaﬂﬂ,ﬁﬁuh(mmﬁ)
@ 700 550 coo T 8?
& 500 (a) 4100
£ 300 9SD (b) 3700
: f%; \(s}3900
1995 ¥ 1996 ' 1997 ' 1998 '1999 "2000 '2001 ' (d) 3950

Years
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g8

Amount (in Rs crore)

Export over the years in Rs. (crore)

800 ==
2 =

400

200 Sy
200 3
100

01995 ' 1997 ' 1998 ' 1999 ' 2000 @ 2001 |

Years

2
s
ke

18y
3o

4. Which year has the highest per
cent increase/decrease in
exports as compared to the

revious year?

a4 futa 4 Uod ad ot ga=n A
yfawra gfSet siftrean 82
1997
(b) 1998
(c) 2001
(d) Can't be determined
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Directions (Q.5) : Study the following graph to answer the question given below:
enfeafad arRol &1 Aeurgde srsag &9, iR - 2w e vyl &1 3= 2

Profit earned by a company over the years (Profit in crore rupees)

fad o auf & Hu=t grT AT (FS $UT H)

0 1998 1999 2000 " 2001 2002 2003 " 2004 " 2005
Years
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Profit (in Rs or)
— nggg

© 0o

S o
» 06

SOOE

S5.In which year is the percent

_increase in the profit from that in

the previous year the highest?
fog ad Uod ad & ga=r 7, a1y A

yfawra gfS siftrean 82
(a) 1998 000
(c) 2002 (d) 2004

1998 '1999' 2000 ' 2001 ' 2002' 2003 ' 2004 ' 2005"

Years



Direction (6 - 7) : The line graph shows ele—ctricity consumption (in

units) for three households A, B and C for months February to May.
e WE Wad | U3 & WeHl & fow o= 90 A, B 3 C & fou faseh &t @ua

(ZenTeal W) Rt 9T 2

300

280
260

240
220
200
180

160

140
120

1007

80
60

40
20
0

95
62
107 —
100
61 54 —
e A
40
S5 — 93
8%
4/
February @ March April May



6. In the given graph, the percentage increase in electricity

consumption of ‘B’ between March and May is:
fau 7w T ®, urd of wE & &t ‘B’ *t fasielt wua ® wfdava afg

—_— SSC CPO 13 March 2019 (Morning)

280 25 = (a) 95%
ST xipo-
o9 & 4 (b) 85%

220 2 67.5%
ggg }99 —C g 335 %80/0
1601 54 —B “a==l67¢,

140
120 — A

100 =

80 r
601—7332 63
40

20
0
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300 o5 7. In the given graph, the
ggg difference between the total
240 g electrical consumption between
220 107 - months of February and April is:
o = — “feu o WE A, wrEh AT ot @ WA
1601 —2= 24 — B dter @ faotelt it @ud & e @ 3§
i ) SSC CPO 13 March 2019 (Morning)
1002z — 10 Ba (a) 97

60 /‘/68—’ > (b) 74

a0 2 (5121

28 (d) 15

February = March April May



Directions (8 - iO): The uline gi';alph show:v. the temperature on four

Sundays of three cities.

TET WF o1 IE0 & o Faart st aa faarar 2

34

32

30
28
26
249
22
20
18
16

14
12

10

ON LV

—929 —~ 28

26
24.2
212
—__18.0

18
\"\_\\ 13 / 16

\

1st 2nd 3rd 4th
Sunday Sunday Sunday Sunday

Delhi

. Mumbai —_ Chennai



COMPLETE

{ ¥+ K] COURSE (For all govt. exams By ADITYA RANJAN SIR

1st
Sunday

e  Mumbai

2nd  3rd  4th
Sunday Sunday Sunday

e Chennai — Delhi

8. In the given line graph, what
was the average temperature on
first sunday ?
far T t@r ww °, uge aaw @ oirEd
arqar feRa=r 4r?

SSC CPO 15 March 2019 (Evening)

(a) 21.2
—QQ‘FQHQ + ng \M24
. 3 - (c) 25.4
24 (d) 23
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34
32
30
28
26
24
22
20
18
16

14
12

1st
Sunday

e  Mumbai

2nd  3rd 4th
Sunday Sunday Sunday

e Chennai — Delhi
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9. In the given line graph, when
was the maximum temperature
recorded in Chennai?

fau mu @mEw Www °, u=E o orfuean
ATYHT shel g9 fehdT T/ T 9AT?
SSC CPO 15 March 2019 (Evening)

\M 4th Sunday

(b) 3rd Sunday
(c) 1st Sunday
(d) 2nd Sunday



1st
Sunday

e  Mumbai

2nd  3rd  4th
Sunday Sunday Sunday

e Chennai — Delhi
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10. In the given line graph, what
is the difference between the
temperature of Delhi and Chennai

on the 3rd Sunday ?
fy W ter e X, Wt aw @

faeett 3T o=12 & araurE § faaer afaw 272
SSC CPO 15 March 2019(Evening)
(a) 21
(b) 13
(c) 17
\(9/'8




Direction (11 - 13): The line graph shows the production of product
A and B (in thousands) during the period 2004 to 2009 and the

second line Graph shows the percentage sale of these products.
fdor (11 - 13): &ET WE 2004 F 2009 Wt @Y F I IAE A ’R B (IR H)

& SAET @l I9Nar ¢ 37T gEdt ufeh o1 W 39 Sael &t fagnt ot wiavra gorar 81

0-A

H-
90 " %) » -

—=— PRODUCTION OF PRODUCT A(in’000)

—e— PRODUCTION OF PRODUCT B(in’000) g,
16— 70 -

14- 13 14 o 70
12- S

101 8.5 40+ 55 50

8 - 30-

. 7 7 20 -

z 10

o - O 006 T 2005 * 2006 ' 2007 ' 2008 ' 2009

! i T I i
2004 2005 2006 2007 2008 2009



—&— PRODUCTION OF PRODUCT A(in’000)
—&— PRODUCTION OF PRODUCT B(in’000)

14 @ 13 14
12 -
12- 11 /
q 12
104 8.5 11
8- 9 -
7
64 ' A
4-
2-
o | || | | || |
2004 2005 2006 2007 2008 2009
90—1
80—1

.

11. In the given line graph, what
is the total sale of Products A and
B in the year 20077
fau 7w w=rew ww ®, 99 2007 H 3@E A
3T B &t wer fasht ferat 872

SSC CPO 16 March 2019 (Evening)

Sale (3y'10290
" (b) 13460
%O¥1s - Bog, (c) 11500

(d) 12490

2004

2005

2006

2007

2008

© 2009



—#— PRODUCTION OF PRODUCT A{(in’000)

—e— PRODUCTION OF PRODUCT B{(in’000) 12. In the given line gr aph, what
o 5 e is the total sale of Product B in the
12 Ty year 2004 and 2008 together?
10- Y A0 fau 7o &Egw W ®, I 2004 AT 2008 o
:H o 8 3are B @ e fasnt et 272
. SSC CPO 16 March 2019 (Evening)
. a0y Bpryss cups  (8) 11950
Y e e g (b) 12500
- (c) 14600

75 80 - . Qoog 11825
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—&— PRODUCTION OF PRODUCT A(in'000)
—&— PRODUCTION OF PRODUCT B(in’000)
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13

14

12

0+

T
2004

75

T
2005

T
2006

2007

80

2008

2009

13. In the given line graph, what is
the total sale of Product A in the
year 2005 and 2009 taken

together?
fau v @Ew Www ®, ad 2005 AT 2009 ¥ IA@E

A @t = Tasnt =t fuemat wer foat 82
SSC CPO 16 March 2019 (Evening)
(a) 16400
(b) 14600
50 (c) 17500
(d) 18500

2004

2005

2006

2007

2008

" 2009
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Directions (14-18):- Answer the questions on the basis of the information given

povt. exams

below:

The table given below
The graph given below represents the||[represents the respective ratio
production (in tones) and sales (in tones) of | |of the production (in tones) of
company A from 2006-2011. Company A to the production
(in tones) of Company B, and
-8-Production -=-Sales the respective ratio of the sales
@ 900 (in tones) of Company A to the
@ 800 sales (in tones) of Company B.
<@ 700
o Years | Production | Sales
g s 900 L = 2006 5:4 2:3
By : ~
'§ g 200 //\\//‘ 2007 8:7 11:12
3 § 400 7 2008 3:4 9:14
i~
EE 300 2009 11:12 4:5
- 00— . .
2006 2007 2008 2009 2010 2011 2010 14:19 10:9
Vears 2011 | 13:14 1:1
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Fer € E Wl & 3TUW 9T U9Hl & I 3

povt. exams

e foar T o FUSt A & 2006-2011 ® SAET
(29 ¥) 3T fawt (29 ®) =1 wfaf+fas swar 2

-8- Production -= Sales

—

2006 2007 2008
Years

900
800
700
600

o
=

o
o

o
o

Production and Sales
(in tonnes)
N W H O

-
=)

2009 2010 2011

drer &t g aifeet ®wUAt A & 3dTeA
(29) %, ®u+t B & 3I@Eq (24 ®) ¥
Hafaa Ut AT wudr A st fahr
(29 ®), ot B @i fasht (29 ®) W
HaTga U ST Wiafrea &dr ¢ |

Years | Production | Sales

2006 5:4 2:3
2007 8:7 11:12
2008 3:4 9:14

2009 11:12 4:5
2010 14:13 10:9
2011 13:14 1:1
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tonnes) in the year 2010?

a9 2009 H HUAT A & IWET (2 W) | F9 2010 § HUAt A & IAEA (29 W) ¥ quria wiava
gfg = 27

Production and Sales

(in tonnes)
H
o
o

900
800
700
600

ey
o
o

N W
C O
QO

SSZx 1|
Q3

SSXIX 27" 23 x 0% | Y
-8- Production -= Sales

2006 2007 2008

Years

2009 2010 2011

govt. exams

BY ADITYA RANJAN SIR

What is the approximate percentage increase in the production of
Company A (in tonnes) from the year 2009 to the production of Company A (in

(a) 18
(38
(c) 23
A g (427
Years | Production | Sales
2006 5:4 2:3
2007 8:7 11:12
2008 3:4 9:14
2009 4:5
2010 14:13 10:9
2011 13:14 1:1




sSxII1X21 23 X70XIY

o335 @9540)
N




15. The sales of Company A in the year 20_09 was approximately what
percent of the production of Company A in the same year?

a9 2009 § HUAT A i fasht 30T 99 oAt A & IS T 9T feRaar ufavra of?

Bqu -ﬁl'@’)ﬂl [36 X100/ NEE
1089 (b) 73
(uxz)(czx..x) ~ 615y (c) 79
136 . 1089 (d) 83
-8-Production -= Sales
® 900
& 800 Years | Production | Sales
g ' 2006 5:4 2:3
g - 500 S 2007 8:7 11:12
2 § 500 20 : :
§g400 g 2008 3:4 9:14
3 < 300 bo 2009 | 11:12 4:5
-
A< 200 2010 14:13 10:9
2006 2007 2008 2009 2010 2011
2011 13:14 1¢1
Years
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What is the average production of company B (in tonnes) from the year
2006 to the year 20117
ad 2006 ¥ &9 2011 9 Hut B & 3iH@a @ (29 °) fmaem 272

800

700
600

———

ey
o
o

H
-
o

-
o

Production and Sales

(in tonnes)

N W
-
Q

2006 2007 2008 2009 2010 2011

Years

(a) 574
(b) 649
(c) 675
(d) 593
Years | Production | Sales
2006 5:4 2:3
2007 8:7 11:12
2008 3:4 9:14
2009 11:12 4:5
2010 14:13 10:9
2011 13:14 1:1
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17. What is the respective ratio of the total production (in tonnes) of

Company B to the total sales (in tonnes) of Company B?
#ut B & & fawt (29 °) &t B & oo 3SdmEd (29 §) & gataa Ut & 22

(a) 81 : 64
(b) 64 : 55
-8- Production -=- Sales (c) 71 : 81
0 900 (d’ 81:65
g 800 Years | Production | Sales
E a0 2006 5:4 2:3
g o 2007 | 8:7 |11:12
g g °% 2008 | 3:4 9:14
S g 400 . :
'8: 300 2009 11:12 4:5
kS
A= 200 2010 14:13 10:9
2006 2007 2008 2009 2010 2011
v 2011 13:14 | 3 |
ears
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What is the respective ratio of production of Company B (in tonnes) in
the year 2006 to production of Company B (in tonnes) in the year 20087?

an‘2006t‘tm=ﬁB%m(ﬂﬁ)mmmaﬁzoosﬁmnmm
(29 ®) ¥ 3Iurd & 2?2

govt. exams

-8-Production -=- Sales

200
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800

-
=)
=)

———

o
o
o

o
o

o
o

o
o

Production and Sales
(in tonnes)
N W & O

-
=)

2006 2007 2008 2009 2010 2011

Years

(a)2:5
(b)4:5
c)3:4
(d)3:5
Years | Production | Sales
2006 5:4 2:3
2007 8:7 11212
2008 3:4 9:14
2009 11:12 4:5
2010 14:13 10:9
2011 13:14 i -2 |




